
Procedure Rollover FESX 2021-12-17

Before I started the rollover procedure in SC for "back adjusted", I figured out the difference 
value of the two contracts. Today's difference value is -18.5. (see LINK)

https://www.sierrachart.com/index.php?page=doc/
ContinuousFuturesContractCharts.html#ContinuousFuturesContractDateRuleRolloverBackAdjusted

To test the process, I created a new chartbook. For the "automatic" adjustment of the levels I 
used only rectangles. The rectangles were always created at the OPEN/ CLOSE of each 
candle. At the beginning I always took ext. rectangles, then with "snap to open/ close" and at the
end I cut them off.
I have created rectangles in M30 and M3.By using the Chart Drawing Window, I read the 
Rectangle data and inserted it into Excel tables (see example for M30).
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After saving all data, I started the rollover with „Chart/ Perform Future Rollover“

The following check showed a difference of -19.5 (although the value should actually have been
-18.5 – see LINK above). After that, the Adjustment of the rectangles took place 

For a better comparison, the data of the 
rectangles were copied and pasted into 
the Excel tables again. 

After that I compared the values and all 
rectangles were adjusted by the value of 
19.5

However, I am surprised that not the value of -18.5 had to be taken, but the difference value of 
the last days of 19.5.

I assume that I have to do the level adjustment again tomorrow by the value of 1 point.
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